

ABC Bid Data

CONCORD / HOPKINTON

41906

X-A004(775)

PROJECT:	CONCORD / HOPKINTON	Awarded To:	PIKE INDUSTRIES, INC.		
STATE PROJECT NUMBER:	41906	, maraoa ror	3 EASTGATE PARK ROAD)	
FED. PROJECT NUMBER:	X-A004(775)		BELMONT, NH 03220		
DATE BIDS OPEN:	December 19, 2019,				
SCOPE OF WORK:	Resurfacing I-93 MM 38.5 to 44.0; I-89 MM 8.2 to MM 13.6, and crack sealing along I393 & I93	Amount:	\$7,791,169.24	Certified by:	PETER.E.STAMNAS Director of Project Development
COMPLETION DATE:	July 30, 2021	Award Date:			
OCATION:	Merrimack				

Summary of Bidders

Contractor	Bid Amount	Rank
PIKE INDUSTRIES, INC.	\$7,791,169.24	A
3 EASTGATE PARK ROAD, BELMONT NH 03220		
ALL STATES ASPHALT, INC.	\$8,293,783.42	В
325 AMHERST ROAD, PO BOX 91, SUNDERLAND MA 01375		

					₽\$&E	3 EASTGAT	ISTRIES, INC. E PARK ROAD T, NH 03220	325 AMH	ASPHALT, INC. ERST ROAD ND, MA 01375
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

202.7	REMOVAL OF GUARDRAIL	LF	1,500.00	\$3.00	\$4,500.00	\$5.50	\$8,250.00	\$2.20	\$3,300.00
202.843	REMOVAL OF LIGHT POLE	U	13.00	\$860.00	\$11,180.00	\$1,400.00	\$18,200.00	\$2,200.00	\$28,600.00
203.5561	EAGRT PLATFORM PREFERRED	U	13.00	\$1,250.00	\$16,250.00	\$1,750.00	\$22,750.00	\$1,800.00	\$23,400.00
206.1	COMMON STRUCTURE EXCAVATION	CY	4.70	\$490.00	\$2,303.00	\$550.00	\$2,585.00	\$385.00	\$1,809.50
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	СҮ	10.00	\$80.00	\$800.00	\$100.00	\$1,000.00	\$300.00	\$3,000.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	951.60	\$47.50	\$45,201.00	\$35.00	\$33,306.00	\$32.00	\$30,451.20
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	3,320.55	\$84.00	\$278,926.20	\$107.00	\$355,298.85	\$123.00	\$408,427.65
403.11002	HOT BITUMINOUS PAVEMENT, MACHINE METHOD (QC/QA TIER 2)	TON	13,982.23	\$84.00	\$1,174,507.32	\$106.00	\$1,482,116.38	\$122.00	\$1,705,832.06
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	5.35	\$236.68	\$1,266.24	\$1,000.00	\$5,350.00	\$1,100.00	\$5,885.00
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	33,183.44	\$2.50	\$82,958.60	\$5.00	\$165,917.20	\$5.00	\$165,917.20
403.6	PAVEMENT JOINT ADHESIVE	LF	117,260.90	\$0.50	\$58,630.45	\$0.35	\$41,041.32	\$0.70	\$82,082.63
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	9,219.00	\$6.30	\$58,079.70	\$6.00	\$55,314.00	\$6.90	\$63,611.10
410.752	EMULSIFIED ASPHALT FOG SEAL	GAL	23,843.00	\$4.27	\$101,809.61	\$4.50	\$107,293.50	\$4.40	\$104,909.20
410.753	COVER AGGREGATE	TON	54.20	\$1,700.00	\$92,140.00	\$1,950.00	\$105,690.00	\$1,850.00	\$100,270.00
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	42.80	\$232.50	\$9,951.00	\$250.00	\$10,700.00	\$275.00	\$11,770.00
413.1	HOT-POURED CRACK SEALANT	LB	67,873.00	\$1.70	\$115,384.10	\$2.10	\$142,533.30	\$2.15	\$145,926.95
413.6	CRACK FILL PRIOR TO THIN LIFT OVERLAY	LB	60,822.00	\$2.00	\$121,644.00	\$1.80	\$109,479.60	\$1.90	\$115,561.80
417.	COLD PLANING BITUMINOUS SURFACES	SY	151,603.10	\$2.64	\$400,232.18	\$2.10	\$318,366.51	\$3.40	\$515,450.54
417.118	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 0.5" DEEP	LF	1,463.80	\$8.32	\$12,178.82	\$4.65	\$6,806.67	\$5.10	\$7,465.38
417.21	MICRO-MILLING BITUMINOUS SURFACES	SY	196,117.70	\$1.27	\$249,069.48	\$0.75	\$147,088.28	\$1.40	\$274,564.78
417.416	RUMBLE STRIPS, 16" WIDE	LF	4,971.00	\$2.50	\$12,427.50	\$3.00	\$14,913.00	\$2.60	\$12,924.60
419.13	BONDED WEARING COURSE, TYPE C	TON	15,914.72	\$135.00	\$2,148,487.20	\$135.00	\$2,148,487.20	\$132.00	\$2,100,743.04
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	505.00	\$116.00	\$58,580.00	\$86.00	\$43,430.00	\$90.00	\$45,450.00
559.412	REPAIR ASPHALTIC PLUG EXPANSION JOINT (F)	LF	248.00	\$132.46	\$32,850.08	\$150.00	\$37,200.00	\$147.00	\$36,456.00
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	13.00	\$2,950.00	\$38,350.00	\$3,400.00	\$44,200.00	\$3,600.00	\$46,800.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	700.00	\$20.70	\$14,490.00	\$24.50	\$17,150.00	\$27.50	\$19,250.00
608.2401	4" CONCRETE SIDEWALK	SY	38.60	\$51.50	\$1,987.90	\$110.00	\$4,246.00	\$95.00	\$3,667.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	5.80	\$450.00	\$2,610.00	\$530.00	\$3,074.00	\$500.00	\$2,900.00
609.5	RESET GRANITE CURB	LF	47.80	\$40.00	\$1,912.00	\$80.00	\$3,824.00	\$55.00	\$2,629.00

					PS&E	3 EASTGA	USTRIES, INC. TE PARK ROAD NT, NH 03220	ALL STATE 325 AM SUNDERL	S ASPHALT, INC. IERST ROAD AND, MA 01375
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
616.606	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 6 FT	EA	2.00	\$820.00	\$1,640.00	\$650.00	\$1,300.00	\$660.00	\$1,320.00
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	2.00	\$1,560.00	\$3,120.00	\$2,000.00	\$4,000.00	\$1,650.00	\$3,300.00
616.9501	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00	\$2,750.00	\$2,750.00
616.9502	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$7,150.00	\$7,150.00
616.9503	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$10,000.00	\$10,000.00	\$9,500.00	\$9,500.00	\$6,600.00	\$6,600.00
616.9504	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$10,000.00	\$10,000.00	\$9,500.00	\$9,500.00	\$6,600.00	\$6,600.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	117,327.00	\$1.00	\$117,327.00	\$1.00	\$117,327.00	\$1.00	\$117,327.00
618.7	FLAGGERS	HR	1,675.00	\$31.50	\$52,762.50	\$36.00	\$60,300.00	\$37.00	\$61,975.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$600,000.00	\$600,000.00	\$675,000.00	\$675,000.00	\$590,000.00	\$590,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	10.00	\$3,032.71	\$30,327.10	\$7,500.00	\$75,000.00	\$3,500.00	\$35,000.00
619.27	TRAILER-MOUNTED SPEED LIMIT SIGN	U	4.00	\$3,000.00	\$12,000.00	\$5,500.00	\$22,000.00	\$2,750.00	\$11,000.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	4.00	\$2,902.03	\$11,608.12	\$1,000.00	\$4,000.00	\$2,750.00	\$11,000.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	26.00	\$5.45	\$141.70	\$5.25	\$136.50	\$5.50	\$143.00
621.31	SINGLE DELINEATOR WITH POST	EA	69.00	\$48.00	\$3,312.00	\$62.50	\$4,312.50	\$66.00	\$4,554.00
621.32	DOUBLE DELINEATOR WITH POST	EA	13.00	\$52.50	\$682.50	\$68.00	\$884.00	\$70.00	\$910.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	110.80	\$4.60	\$509.68	\$10.50	\$1,163.40	\$11.00	\$1,218.80
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	1,247.40	\$0.85	\$1,060.29	\$0.20	\$249.48	\$0.22	\$274.43
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	957,053.60	\$0.18	\$172,269.65	\$0.20	\$191,410.72	\$0.22	\$210,551.79
632.01069	SHORT TERM PAVEMENT MARKINGS, 6" LINE	LF	350,148.50	\$0.14	\$49,020.79	\$0.08	\$28,011.88	\$0.12	\$42,017.82
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	30,031.70	\$1.09	\$32,734.55	\$0.85	\$25,526.95	\$1.12	\$33,635.50
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	166.00	\$9.16	\$1,520.56	\$4.20	\$697.20	\$4.75	\$788.50
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	12,849.50	\$1.02	\$13,106.49	\$1.90	\$24,414.05	\$1.92	\$24,671.04
632.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8" LINE	LF	105.00	\$2.44	\$256.20	\$2.70	\$283.50	\$2.75	\$288.75
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	15,939.10	\$2.75	\$43,832.53	\$4.00	\$63,756.40	\$4.12	\$65,669.09
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	333.00	\$10.39	\$3,459.87	\$5.40	\$1,798.20	\$5.50	\$1,831.50
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	146.60	\$10.29	\$1,508.51	\$7.50	\$1,099.50	\$7.70	\$1,128.82
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	39,091.20	\$0.49	\$19,154.69	\$0.65	\$25,409.28	\$1.15	\$44,954.88
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	1,000.00	\$5.80	\$5,800.00	\$4.70	\$4,700.00	\$6.50	\$6,500.00
645.531	SILT FENCE	LF	1,000.00	\$3.00	\$3,000.00	\$2.80	\$2,800.00	\$7.25	\$7,250.00
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	395.00	\$14.50	\$5,727.50	\$9.50	\$3,752.50	\$25.30	\$9,993.50
692.	MOBILIZATION	U	1.00	\$500,000.00	\$500,000.00	\$675,000.00	\$675,000.00	\$617,500.00	\$617,500.00

				PS&E		3 EASTGA	USTRIES, INC. TE PARK ROAD NT, NH 03220	ALL STATES ASPHALT, INC. 325 AMHERST ROAD SUNDERLAND, MA 01375	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
698.12	FIELD OFFICE TYPE B	MON	19.00	\$1,980.54	\$37,630.26	\$2,400.00	\$45,600.00	\$2,800.00	\$53,200.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
1006.23	SPECIAL WORK - EXTRACTED AND RECOVERED ASPHALT BINDER TESTING	\$	3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	1,800.00	\$1.00	\$1,800.00	\$1.00	\$1,800.00	\$1.00	\$1,800.00
1010.15	FUEL ADJUSTMENT	\$	70,000.00	\$1.00	\$70,000.00	\$1.00	\$70,000.00	\$1.00	\$70,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	58,725.37	\$1.00	\$58,725.37	\$1.00	\$58,725.37	\$1.00	\$58,725.37
		-	Totals:		\$7,148,344.24		\$7,791,169.24		\$8,293,783.42
			Alt. Totals:						
			Totals:		\$7,148,344.24		\$7,791,169.24		\$8,293,783.42



CONCORD / HOPKINTON

41906

X-A004(775)

Item No.				A-Bid	der	PS8	ξE	
	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
202.7	REMOVAL OF GUARDRAIL	LF	1,500.00	\$5.50	\$8,250.00	\$3.00	\$4,500.00	\$3,750.00
202.843	REMOVAL OF LIGHT POLE	U	13.00	\$1,400.00	\$18,200.00	\$860.00	\$11,180.00	\$7,020.00
203.5561	EAGRT PLATFORM PREFERRED	U	13.00	\$1,750.00	\$22,750.00	\$1,250.00	\$16,250.00	\$6,500.00
206.1	COMMON STRUCTURE EXCAVATION	СҮ	4.70	\$550.00	\$2,585.00	\$490.00	\$2,303.00	\$282.00
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	СҮ	10.00	\$100.00	\$1,000.00	\$80.00	\$800.00	\$200.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	951.60	\$35.00	\$33,306.00	\$47.50	\$45,201.00	(\$11,895.00)
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	3,320.55	\$107.00	\$355,298.85	\$84.00	\$278,926.20	\$76,372.65
403.11002	HOT BITUMINOUS PAVEMENT, MACHINE METHOD (QC/QA TIER 2)	TON	13,982.23	\$106.00	\$1,482,116.38	\$84.00	\$1,174,507.32	\$307,609.06
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	5.35	\$1,000.00	\$5,350.00	\$236.68	\$1,266.24	\$4,083.76
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	33,183.44	\$5.00	\$165,917.20	\$2.50	\$82,958.60	\$82,958.60
403.6	PAVEMENT JOINT ADHESIVE	LF	117,260.90	\$0.35	\$41,041.32	\$0.50	\$58,630.45	(\$17,589.13)
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	9,219.00	\$6.00	\$55,314.00	\$6.30	\$58,079.70	(\$2,765.70)
410.752	EMULSIFIED ASPHALT FOG SEAL	GAL	23,843.00	\$4.50	\$107,293.50	\$4.27	\$101,809.61	\$5,483.89
410.753	COVER AGGREGATE	TON	54.20	\$1,950.00	\$105,690.00	\$1,700.00	\$92,140.00	\$13,550.00

411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	42.80	\$250.00	\$10,700.00	\$232.50	\$9,951.00	\$749.00
413.1	HOT-POURED CRACK SEALANT	LB	67,873.00	\$2.10	\$142,533.30	\$1.70	\$115,384.10	\$27,149.20
413.6	CRACK FILL PRIOR TO THIN LIFT OVERLAY	LB	60,822.00	\$1.80	\$109,479.60	\$2.00	\$121,644.00	(\$12,164.40)
417.	COLD PLANING BITUMINOUS SURFACES	SY	151,603.10	\$2.10	\$318,366.51	\$2.64	\$400,232.18	(\$81,865.67)
417.118	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 0.5" DEEP	LF	1,463.80	\$4.65	\$6,806.67	\$8.32	\$12,178.82	(\$5,372.15)
417.21	MICRO-MILLING BITUMINOUS SURFACES	SY	196,117.70	\$0.75	\$147,088.28	\$1.27	\$249,069.48	(\$101,981.20)
417.416	RUMBLE STRIPS, 16" WIDE	LF	4,971.00	\$3.00	\$14,913.00	\$2.50	\$12,427.50	\$2,485.50
419.13	BONDED WEARING COURSE, TYPE C	TON	15,914.72	\$135.00	\$2,148,487.20	\$135.00	\$2,148,487.20	\$0.00
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	505.00	\$86.00	\$43,430.00	\$116.00	\$58,580.00	(\$15,150.00)
559.412	REPAIR ASPHALTIC PLUG EXPANSION JOINT (F)	LF	248.00	\$150.00	\$37,200.00	\$132.46	\$32,850.08	\$4,349.92
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	13.00	\$3,400.00	\$44,200.00	\$2,950.00	\$38,350.00	\$5,850.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	700.00	\$24.50	\$17,150.00	\$20.70	\$14,490.00	\$2,660.00
608.2401	4" CONCRETE SIDEWALK	SY	38.60	\$110.00	\$4,246.00	\$51.50	\$1,987.90	\$2,258.10
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	5.80	\$530.00	\$3,074.00	\$450.00	\$2,610.00	\$464.00
609.5	RESET GRANITE CURB	LF	47.80	\$80.00	\$3,824.00	\$40.00	\$1,912.00	\$1,912.00
616.606	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 6 FT	EA	2.00	\$650.00	\$1,300.00	\$820.00	\$1,640.00	(\$340.00)
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	2.00	\$2,000.00	\$4,000.00	\$1,560.00	\$3,120.00	\$880.00
616.9501	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$3,000.00	\$3,000.00	\$2,500.00	\$2,500.00	\$500.00
616.9502	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$0.00
616.9503	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$9,500.00	\$9,500.00	\$10,000.00	\$10,000.00	(\$500.00)
616.9504	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$9,500.00	\$9,500.00	\$10,000.00	\$10,000.00	(\$500.00)
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	117,327.00	\$1.00	\$117,327.00	\$1.00	\$117,327.00	\$0.00

618.7	FLAGGERS	HR	1,675.00	\$36.00	\$60,300.00	\$31.50	\$52,762.50	\$7,537.50
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$675,000.00	\$675,000.00	\$600,000.00	\$600,000.00	\$75,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	10.00	\$7,500.00	\$75,000.00	\$3,032.71	\$30,327.10	\$44,672.90
619.27	TRAILER-MOUNTED SPEED LIMIT SIGN	U	4.00	\$5,500.00	\$22,000.00	\$3,000.00	\$12,000.00	\$10,000.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED	U	4.00	\$1,000.00	\$4,000.00	\$2,902.03	\$11,608.12	(\$7,608.12)
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	26.00	\$5.25	\$136.50	\$5.45	\$141.70	(\$5.20)
621.31	SINGLE DELINEATOR WITH POST	EA	69.00	\$62.50	\$4,312.50	\$48.00	\$3,312.00	\$1,000.50
621.32	DOUBLE DELINEATOR WITH POST	EA	13.00	\$68.00	\$884.00	\$52.50	\$682.50	\$201.50
628.2	SAWED BITUMINOUS PAVEMENT	LF	110.80	\$10.50	\$1,163.40	\$4.60	\$509.68	\$653.72
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	1,247.40	\$0.20	\$249.48	\$0.85	\$1,060.29	(\$810.81)
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	957,053.60	\$0.20	\$191,410.72	\$0.18	\$172,269.65	\$19,141.07
632.01069	SHORT TERM PAVEMENT MARKINGS, 6" LINE	LF	350,148.50	\$0.08	\$28,011.88	\$0.14	\$49,020.79	(\$21,008.91)
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE	LF	30,031.70	\$0.85	\$25,526.95	\$1.09	\$32,734.55	(\$7,207.60)
632.1118	(REMOVABLE) 4" LINE PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	166.00	\$4.20	\$697.20	\$9.16	\$1,520.56	(\$823.36)
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	12,849.50	\$1.90	\$24,414.05	\$1.02	\$13,106.49	\$11,307.56
632.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8" LINE	LF	105.00	\$2.70	\$283.50	\$2.44	\$256.20	\$27.30
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	15,939.10	\$4.00	\$63,756.40	\$2.75	\$43,832.53	\$19,923.87
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	333.00	\$5.40	\$1,798.20	\$10.39	\$3,459.87	(\$1,661.67)
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	146.60	\$7.50	\$1,099.50	\$10.29	\$1,508.51	(\$409.01)
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	39,091.20	\$0.65	\$25,409.28	\$0.49	\$19,154.69	\$6,254.59
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	1,000.00	\$4.70	\$4,700.00	\$5.80	\$5,800.00	(\$1,100.00)

645.531	SILT FENCE	LF	1,000.00	\$2.80	\$2,800.00	\$3.00	\$3,000.00	(\$200.00)
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	395.00	\$9.50	\$3,752.50	\$14.50	\$5,727.50	(\$1,975.00)
692.	MOBILIZATION	U	1.00	\$675,000.00	\$675,000.00	\$500,000.00	\$500,000.00	\$175,000.00
698.12	FIELD OFFICE TYPE B	MON	19.00	\$2,400.00	\$45,600.00	\$1,980.54	\$37,630.26	\$7,969.74
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00
1006.23	SPECIAL WORK - EXTRACTED AND RECOVERED ASPHALT BINDER TESTING	\$	3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00	\$0.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	1,800.00	\$1.00	\$1,800.00	\$1.00	\$1,800.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	70,000.00	\$1.00	\$70,000.00	\$1.00	\$70,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$0.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	58,725.37	\$1.00	\$58,725.37	\$1.00	\$58,725.37	\$0.00

Total:

\$7,791,169.24

\$642,825.00

\$7,148,344.24